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1.

Which country will host the 2036 Olympics, as

per recent IOC discussions?

(A) India

(B) China

(C) Germany

(D) South Korea

What is the theme of World Environment Day
20257

(A) Beat Plastic Pollution

(B) Restore Our Earth

(C) Land Restoration, Desertification &

Drought Resilience

(D) Climate Action Now

Who is the current Chief Justice of India (CJI)?
(A) N.V.Ramana

(B) D.Y.Chandrachud

(C) Ranjan Gogoi

(D) U.U.Lalit

A shopkeeper buys an item for Rs. 600 and
sells it for Rs. 750. What is his profit percentage?
(A) 20%

B) 22.5%

(€) 25%

D) 30%
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B) 22.5%
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5.

What percentage of 250 is 75?

(A) 25%

(B) 20%

(C) 35%

(D) 30%

A train covers 180 km in 3 hours. What is its
average speed?

(A) 50km/h

(B) 80km/h

(C) 70km/h

(D) 60km/h

Find the next letter: D, F, H, J, ....... ?

(A) L

(B) M

© K

(D) N

Aisthe son of B. C is B's sister. D is B's mother.

E is D'shusband. F is E's son. How is F related

to C?

(A) Nephew
(B) Brother
(C) Uncle

(D) Cousin
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0.

10.

11.

12

There are 5 floors in a building. P lives above Q
but below R. S lives below Q. T lives at the

top. Who lives on the first floor?

(A) S

®B) Q

(C) R

D) p

Pointing to a man, Rina says, "He is the son

of my father’s daughter." Who is the man to

Rina?

(A) Cousin

(B) Nephew

(C) Brother

(D) Uncle

Who became the first female commander in the
Indian Navy to command a warship in 2024?
(A) Prerna Deosthalee

(B) Preeti Singh

(C) Shaliza Dhami

(D) SharvaniMishra

Which state launched the Mukhyamantri Gramin
Awas Yojana 2.0 in 20257

(A) Madhya Pradesh

(B) Bihar

(C) Uttar Pradesh

(D) Jharkhand
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13. Select the synonym of "Abandon" :
(A) Leave
(B) Catch

(C) Decorate

(D) Prepare

14. Select the antonym of "Ancient" :
(A) Modem
(B) O
(C) Antique

(D) Past

15. Choose the correct preposition :

Sheisgood  mathematics.
(A) n
(B) of
(C) at
(D) for

16. ‘G@’ & wHEEEr 9 T §?
(A) &
(B) T
(C) =4

(D) Stwa

17. ‘e &1 fadm o= @ 27
(A) Fisea
B)
(C) et
(D) U
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16.

17.

. Select the synonym of "Abandon" :

(A) Leave
(B) Catch
(C) Decorate

(D) Prepare

. Select the antonym of "Ancient" :

(A) Modern
(B) Old
(C) Antique

(D) Past

Choose the correct preposition :

Sheisgood  mathematics.
(A) n
(B) of
(C) at

(D) for

@ H Wi T e
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(B) &

(C) =

(D) Sq
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(C) et
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18.

19.

20.

21,

P [ B & B 27
(A) 4
B) 5
©) 6

D) 7

Windows is which type of software?
(A) Application Software

(B) Utility Software

(C) Operating System

(D) Compiler

A computer virus is a type of:
(A) Hardware

(B) Software

(C) Memory

(D) Network

Which part of the CPU performs calculations?
(A) Control Unit

(B) Memory

(C) ALU

(D) CU
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22.

Vi S

24,

2.

What is the full form of UPS?

(A) Unplugged Power Supply
(B) Uninterrupted Power Supply
(C) Universal Power System

(D) Under Power Setup

Which feature checks spelling in MS Word?
(A) Word Count

(B) Spell Checker

(C) Thesaurus

(D) Grammar Fixer

Full form of HTTP is:

(A) Hyper Text Transfer Program
(B) Hyper Text Transfer Protocol
(C) High Text Transfer Protocol

(D) Hyper Transfer Text Protocol

Full form of ASClII is:

(A) .American Standard Code for Information

Interchange

(B) American Standard Communication for

Internet Interface

(C) Automatic Standard Code for Internal
Interface

(D) Advanced System Communication

Interlink

M.Sc. Physics
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26. Quality factor for a forced oscillator will be :

2%

28.

(A) Q=% I+— @,

(B) Q=% [+— o,

2

© Q=1{1+—a)%}w
21 gy

1 2
©) Q=—2~[l+%}

0

Two successive deflections in one side from the
mean position of the ballistic galvenometer are
25¢m and 24.9cm. Determine the logarthmic

decrement :

(A) 1.99 x 107

(B) 1.95x10°

(C) 1.99 x 107

(D) 1.98 x 107

For maximum power transfer from a generator of
e.m.f=100sin 1000t voltand internal impedance
equivalentto 100 Q resistance in series with 100
mH inductance, the load must be:

(A) 100 Q resistor

(B) 100 Q resistor and 100 mH inductor in
series

(C) 100 Q resistor and 100 mF capacitor in
series

(D) 100 Q resistor and 10 xF capacitor in

series
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2T

28.

1
(A) Q=5

1 @’
=—|1+= |@
& o o

e
(©) Q—Z[sz}w
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2
w(]
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(D) Q:—;—|:1+

(A) 1.99 x 10
(B) 1.95x 107
(C) 1.99 x 103
(D) 1.98 x 10
% Jiee qar 100 Q ufedg g 100 mH Iwa

3 oot weg 3 g e 9w e §
e FHeil HeROT & U STEvEd @ @
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29,

30.

31.
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A full wave rectifier is designed with two p-n
junction diodes a load of 800 Q and no filter
circuit. If the forward dynamic resistance of
p-n junctions is 200 €, the efficiency of the

rectifier would be :

(A) 81.2%

(B) 64.96%

(C) 40.6%

(D) 16%

The normal mode beat frequency of two
identical coupled pendulums is 5 Hertz. The time

interval between two maximum displacements

of the pendulum will be :
(A) 0.1sec
(B) 0.2 sec
(C) 1sec

(D) 5 sec

The bandwidth of a series L.CR circuit is given
by:

(A)

~|

|~

(B)

L
©'=

ke
©)

[10]
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T QU T R & p-n w@fy ReewfEr qu
800 Q e ek & 9T TN B 3EH B
fireet ftay 2t B1 A% p-n e & o s
g 200 Q 2, o Rt it g 2rf

(A) 81.2%

(B) 64.96%

(C) 40.6%

D) 16%

A quey gRnd Aaw B e el @

g 5 8dst 21 AT Aol B Sfeebad STEE &
e AHARA BN

(A) 0.17.
(B) 0.24.
©) 13
(D) 53.
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(A)

~| =

=~

®)

©)

O]~

D)
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32.

33;

34.

35:

If the lattice constant for a simple cubic lattice is
equal to 2.8 A | then the distance between the
(011) planes will be approximately :

A) 28A

B) 14A

(C) 2.0A

(D) None of'the these

Volume of the body centered cubic unit cell is
givenby :

A o

B2
aS
© ¥

®) 24

Which one of these equations is not a Maxwell's
equation for static electromagnetic field in linear
homogeneous medium?

=i

(A) V.

®) v.E=0

=0

(©) (ﬁb.dE:Q

g

In the Newton's ring experiment, the fringes are
formed dueto :

(A) Reflection of light from a plane mirror
(B) Division ofamplitude
(C) Division of wavefront

(D) Refraction of light passing through a prism

M.Sc. Physics
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35

g fedll TXa =g Sas @ Tes Madie 2.8
AR @ (011) Tt & #=7 31 g &l e
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36.

37

38.

39,
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In a Fraunhofer diffraction experiment by a
double slit if slit widths are 0.16mm and they
are 0.8 mm apart, then missing orders in
diffraction pattern are :

(A) 4,8,12

B) 3.5,7

(C) 612,18

D) 5,7.9

When a thin sheet of transparent material of
thickness 6.3 x 10* cm is introduced in the path
of one of the interfering beams, the central fringe
shifts to a position occupied by the sixth bright

fringe. If wavelength of light is 5460 A, the
refractive index of the sheet material will be :

(A) 1.24
B) 1.67
(C) 1.52
D) 1.72

Which of the following statements is incorrect?

(A) Zone plate acts as a converging lens

(B) Convex lens has only one focal length but
azone plate has a number of foci

(C) With decrease in focal length of zone plate,
the brightness of image increases

(D) Inazone plate, the focal length of violet
light is more than for red light

Choose the wrong statement :

(A) Nuclear forces are charge independent

(B) Nuclear forces are saturated

(C) Nuclear forces have non-central component

(D) Nuclear forces are spin independent

[12]
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(A) 4.8.12

(B) 3,5,7

(C) 6,12,18

D) 5,7,9
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(A) 1.24
B) 1.67
(€) 1.52
D) 1.72
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40. Minimum energy required for ee’ pair

41.

42,

43.

production will be :
(A) 0.511 MeV
(B) 1.02MeV
(C) 2.04 Mev

(D) 0MeV

Quark structure of neutron is :
(A) uuu
(B) uud
(C) udd

(D) ddd

In a nuclear reactor, the following is used for

controlling chain reaction :

(A) Ironrods

(B) Graphiterods

(C) Platinumrods

(D) Cadmium rods

Ina 50 Hertz full wave rectifier havinga 7 filter
circuit, one inductor of 1 Henry inductance and
two capacitors of 20 x4 f capacitance each are

used. Ifthe load resistance is 1000 (), the ripple

factor will be nearly equal to :
(A) 1.12
B) 0.22
(C) 0.01

(D) 0.08

M.Sc. Physics
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40.

41.

42.

43.

e-e*ng%mm%wwﬁ
L

(A) 0.511 MeV
(B) 1.02MeV
(C) 2.04MeV

(D) 0MeV

e H F T R

(A) uuu

(B) uud

(C) udd

(D) ddd

w A Roger § e B (39-Rowm)
F e & & foe wm @ S @

(A) ¥R 3t ¢

(B) e @ 83

(C) wifem i &g

(D) Feftam i &g

U% 50 &eo gof ai Rewd § & 7 fhex
qitge g & fored 1 3 Overa @ Ak 9
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I die ufedy & "W 1000 o & @ S
o7l H T A BRT

A) 1.12
B) 0.22
(C) 0.01
(D) 0.08
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44,

Transistorisa:
(A) Voltage operated device

(B) Temperature operated device

(C) Current operated device

45.

46.

M.Sec. Physics

(D) None of the above

Using Demorgan's theorem, the value of

== willbe:
(A+B)+CD

(A) ACcD+BCD
B) (4+B)(C+D)
(C) (4+B)CD

(D) (4+B)+CD

Which of the following Maxwell's relations is

incorrect?

[14]
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Zifereey 8 & ¢

(A) fawa defere g
(B) 9 Hefer gfa
(C) =R Heried Ffer

(D) 3w 7 & g T

AT g & ga |

(A+B)+EB ol
BT :

(A) ACD+BCD

B) (4+B)(C+D)
(C) (4+B)CD

(D) (4+B)+CD

fr # § B9-1 Nagdw @ T8l el 8r

3-8
A \or ), \as),

)
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BE Yoo §£]
© \z)., ")

F-F
D) \ap) ~\or),
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47. From the result of Stern-Gerlach experiment and

48.

M.Sc. Physics

Zeeman effect, we understand that :

(A) Angular momentum component along the
direction of magnetic field is quantised but
the components perpendicular to the
magnetic field are not space quantised.

(B) All components of angular momentum are
space quantised.

~ A

©) I:X,L'V,L‘_ are space quantized but ;2 is
not quantized

(D) I:I ; i},, 1:_, are not space quantized but ;2

is quantized.

A magnetic material is placed in a magnetic field

}’3 . The orbital angular momentum of an electron
of material is Z and spin angular momentum is
§ . The change in orbital magnetic moment

(4, ) of electron will be given by :

_#L
(A) 4rm
_uB
B) dxm
_uS
© 2xm
uL
D) 4xm

[151]
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49.

50.
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At r # 0, the values of div :and curl : will

be:

(A) (1,0)

1
® ()

© 3.0)

o (3

A paralled beam of monochromatic light is
allowed to incident normally on plane grating
having 1250 lines/cm and a second order
spectral line is observed to be deviated through
30° The wavelength of spectral line will be :

(A) 2x10°cm
(B) 4x10*cm
(C) 8x10° cm

D) 2x10*cm

[16]

49.

50.

=y

r 0, Tdiv

aaramcurljmqﬁzﬁm:

(A) (1,0)

o ()

©) G.0)

1
o 1)

U THde A s wfy & 1250 e ¥ W
THAiE S i FER S g g
fesm & onufed & w1 1 4@ @ T R T
Fife P W @ 30° T ¥ foenfd & S
21 W @ #@ aees B

(A) 2x10°cm
(B) 4x10*cm

(C) 8x10°cm

(D) 2x10*cm
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Method for marking answer :
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Correct Method Wrong Methods
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Please use only black/blue ball point pen for making all entries in the Answer Sheet which includes darkening
of the ovals. Entries once made can not be changed. Replacement Answer Sheet will not be provided if
incorrect entry is made by the candidate.
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This Answer Sheet will be system processed. Hence please ensure that the entries are correct and complete,
falling which, the system will not capture the desired information.
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Please handover the OMR Sheet and Question Booklet to the invigilator before leaving the examination hall.
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Do not put any stray marks anywhere on the answer sheet. Use of any other paper, calculating machine, mobile
etc, is prohibited and will lead to disqualification.
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Failure to adhere to any instruction given above will render your answer sheet as inviaid and it will not be
evaluated.
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Please hand over the OMR answer shet to the invigilator befor leaving the examination hall, you may take the
carbon copy (Student's Copy) of the OMR answer sheet with you.




